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8. a} A force P=3i-6k passes through the point A

whose position vector is 4i~2j+9%. Find the THIRD SEMESTER
moment of P about the point B whose F%‘“‘i’; PART TIME DPLOMA COURSE IN CIVIL
. i e } "
vector is 674, o . MECHANICAL ANDELECTRICAL
wh aR P=3i-6k g 4 g ¥ P Tl ENGINEERING NEW COURSE
AR 4i-2+9k ¥ T P @ WY T ¥ W APPLIED MATHEMATICS - I
B ay 7w T Rufy wfw 6Tk R ime : Three Hours  Maximpm Marks : 100
b) Find the eccentricity, foci, directrices, length of ote : (i) Question Ne. 1 is compulsory.
axes and latus rectum of the ellipse 33:*"*'4}“"*'"1% pEC R oS s
| i o e s (i1} Attempt any five of the remaining questions.
kg 34y 12 ) TR, A Tk, i 5o H A Tred ohT T T A
steil F T T HE= JE w=W _ (iii) In case of any doubt ur dispute, the English
version question should be treated as final,
- FUA VT F W ) oifem 9w A
Chuoose the correct answer:-
RGPVONLINE.COM S R Wi
i) The differential coefficient of ¥ wrt.xis 2
(a) x* {b) > (1+iog x)
(¢) 1+logx {d) = (1-log x)
X T x % T SEEEA TE B
(a) (") x* (1+log x)
(/) 1+log x (g} x* (1-log x)
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NP g iv) The perpendicular distance hetween the straight
[ 70x) £ (e s equal to : lines 3x+41+6=0 and fx-+8+13=0 is 2
f®) w 132 1 7
p 1
fx) [f L}] | 1
(c) sz—j (d} *= (¢} 10 {d) 5
, on T W 3xrdpi6=0 18 6x+8y+13=0F &9
PP Ay RGPVONLINE.COM Bxbd,
J7G fads 3 e ght
S Aqy L) i 7
L5 ) Ry H} : T oy L
2 S v
el INPAC)) - 1
(=) - (3) = {5) 10 (%) 5
iii) The angle between the vectors 2i/+4k ﬂ“g V) The vertex of the parabola y*+4x+4y=01is 2
ks . @ (L2 () (2. 1)
() 0° f?: 22 e) (2, ) @ (1, -2)
() 60° { ; - TEAA 4 4y=0 T A B
gl 244k W 3i-2j—kF W B/ & "
T 2ny Tk S 2130 A1, ) () @, 1)
' (YO q): 2 o
=)0 () 2, -1) (x) (1.-2)
“(ar) 60° (=} 90°
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< 3} Aline Segment jowning the points P(-4, 3}and ) Find the equation of circle which passes theough
Q{&:-Q) is risected. Find the point of isection origin and cuts the intercepts of 3 and 4 from
nearer to the point P, 6 the axes. | 6
FrgHl P(-4,3) W@ Q(5.-2) # HER @ T T 9w A T R A e g A A
B aEee B ae b By P ¥ oam 1<y,am%aaﬁﬂaga4m%mwm%n
_mﬁ.: m‘ m : % b e [
,_ . , ﬁ@ TSl A ¢} Prove that the gtrmbht line y=x + a2 is the
b) Find the equation of straight line which makes lo 12+ 6
equal intercepts with the axes, and the length tangent to the circle x%4y=a
of perpendicular drawn from origin upon the tine e 0 B WM W p =402 TR
is 5,2 6 1 w19 Yo B
SH R YA W FAE e H A @
dE S aT A W P R §d 4 @) Find the vertex, focus, axis, direetrix and laws
T AT F s 55 ¥ rectum of the parabola y*+4x—6y+13=0. b
¢} Provethatthe points (a,b+c), (b,ca) and (c,a+h T oAb+ 13=0 0 A, N, e, B
are collinear. ‘ é 1 M= I F
fre F & R (abto), (b.cta) T (cath) b) Find the equations of the tangents (o the paxaboia
‘ " S x*=4y which are parallel and perpendicular to the
e
line y=2x+3. 9
: . R x4y B TR WY e & wEER W
3. 3 Find the equation of the circle whose centre is g
at (3,4) and which is passing through (—1,7). 6 W T YRR % T T
Wﬁﬂwﬁmaﬁaﬁﬁammfﬂ)% , . - : ,
g ﬁﬁ (“"117i ¥ BT wE Y S. &) Findthe limit 6
551 e AX ) - k1) ,;('...3)...- ﬁ"l’l%ﬁm
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RGPVONLINE.COM iv) j{ o r—»—ﬂ@g r)z]dr

dy |
b) Find =if 12
| | 7. g} A, B, C, D be any four points, prove that
o, AT T w9 AR | AB+CB+CD+AD=4EF where E and F are

the mid points of AC and BD respectively. 6
A, B, C, D¢ ar fg ¥, Tog #iRm B
_ AB+CB+CD+ AD=4EF T8 ET@F#RE AC
i) ¥= asinf,x = zx[ces: +log, mn(-;—}] w3 BD & w1y g B,

t N | b} Find the unit vector perpendicular to the vectors
2i=j+k and 3i+dj-k, 6

6. Integrate any three of the following. 6Geach - o,

PN e S 2ij+k T 3iv4j-k % A T QR w9
csectx } S - |

0 j._,,_.m » g;) Prove by vectors that diagonals of a parallelogram

tan x | <~/ bisect each other. 6

vii) ! }dx.' R R & e w1 Fs T wgda & Rl v
"xlogxlog(logx) | | | T & EEwE = B

ity fsinx dx
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